Efficiency vs dr

0.1

i F"'"""'"""""""'""'"'

—s— DQM_TT__mkFit_ORIG
—e— DQM_TT__mkFit_MODIF

—_— ldataZ/Ieglanm/newReI PRlZQIstaICMSSW 13_2_0_pre3/src/DQM_TT__ORIG

I il'ii TR
I ; |||||
107

1o3 1072

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.05
d).045
)
©
<l0.04
9.035
>
20.03
2
35=@.025
3]
0.02
0.015
0.0
0.005
1Q

Ratio

1.

1

1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

50.05——— ——
Y ST TS RO W T
R 200 E | A N S St
30.04F-
(]

B.035F
=

©0.03F
0.025F
0.02F
0.015F
0.01
0.005E-

N
(=]




	Contents
	Page 1


